(1) £EXEER

TS EEEMEERB T —T v ITEEXZRAREREZOHE

SO —+FYH

Hhigi 175 5% X % HR#8 TR EXAE WEXE S
2F 4 X7 (2YES (W) —R BMESF) (M) E& HENEE LRS- ZDith
AEMRREER |WEm SXET MR i35 P 14 4,349, 400 1,710,000 0 2,639, 400
B2 TARBE | REH b2 e 1B 349, 710, /639,
[(E##&]
A?/\@Z%%Eﬂﬂﬂ;ﬁﬁ (16a)
s 2] U —A
EOMREXBER \wmm BRE ¥avy  (OREsE 17,018, 100 7,735, 000 0 9,283, 100
= & 18
aMEERE —
BEEKSRE —=
[J—X]
saniz s
=S ot BB BE L& RE 1=
SR APERR \mum CE R BE R 15 33, 303, 509 15,135, 000 0 18, 168, 509
RS SSHBECUR 14
HER 18
FaE 18
NI REEHGEA [1)—X]
PAMRRBLIR DAT =5y RIBEIKT 24y 14 15,719, 000 7, 145, 000 0 8, 574, 000
e 5 X NHYT—L 1E
HphEEBLER |EEh AT T—|e= [1)—X]
#2 SH - R | REtan |[RT EEMEO—> 14 3 869,800 1,759, 000 0 2.110.800
PREEE | EE Ry 2a
=I5 Hhiz }% = I gt = E—kR> 240
EQET%E%% ﬁ-—g—-mﬁﬂtz E%% = oY [ﬁﬂ.] 5,362,390 2,436, 000 0 2,926, 390
Ky—Lo—F
BiFHRMBER BT g EwoY [1)—X]
ey i pgE =*2Y B A S L. 5,170, 000 2, 350, 000 0 2, 820, 000
BiFPRMBER BT e . = [1)—X]
ey e B AL LA L 4,574,900 2,079, 000 0 2, 495, 900
BiFpRMERER BT e T d— [1)—X]
ey S grE (3730 e Ao qa 2,530, 000 1,150,000 0 1,380, 000
BiFpRMEER |EET g . [1)—X]
ey S ex  |mEE |eva— |J0TR 8, 664, 700 3, 938, 000 0 4,726,700
B RMIHEE |EIEH e [V)—X]
iy EoTex  |BEE (Fesy  |J2T00 6,078, 600 2,763, 000 0 3,315, 600
BIFRRMGEEE | EIET BRISH o . [1)—X]
BAGES mEARE  |FRHE |7 E— KT ah 5 168,00 5 112,000 ° 4,496,090
BFhRMIHEE |BiEH e NN [1)—X]
P Eopmx  |REE |73 N SR 7,631, 800 3, 469, 000 0 4,162, 800
BiFhRMHEE |EZH e N [1)—X]
iy v SN e LA s 8, 140, 000 3,700, 000 0 4, 440, 000
BiFhRMEHER |EZH e NN [1)—X]
P AR LES - e Co Ry T as 9, 350, 000 4, 250, 000 0 5,100, 000
BiFhRMEER |E=ZE g . = [1)—X]
iy TR gxs  |vod LA 7,128, 000 3, 240, 000 0 3, 888, 000
BiFhRMEER |E=ZE g « = [1)—X]
ey =L gxs  |vod L0 . 2, 530, 000 1,150,000 0 1,380, 000
EEh R EE [ . - [1)—2]
iy B mgE s=reb 0278 S L. 4, 950, 000 2, 250, 000 0 2,700, 000
BFPRMHEE |BEH (B) FHE [1)—X]
iy EONeR  |= 039 2185 sa 5, 467, 000 2, 485, 000 0 2,982, 000
BIFRRMFEEEX | EIET e [1)—X]
S e B pxxE (sed5y (2T R1S L. 5, 467, 000 2, 485, 000 0 2, 982, 000
BIFRRMFEER | =IET e - [1)—X]
iy o rrE (sed5y (27015 . 3, 267, 000 1,485, 000 0 1,782,000
[E#4]
AP2EHBENYZ (12a)
[)—X]
HaRRRER g = I EENS S 15, 818, 000 7,190, 000 0 8,628, 000 | £ 704 FRHR
EIR 28
Anm A 18
REEAARERE 186
[E#4]
A?Z%Eﬁﬂiﬂ/\ﬁxﬁﬁ (9. 6a)
= mr & 1)—X iF Y6h
ASIRRBER | sy L ESS E—<>  |aBmEmEE st 14, 960, 000 6, 800, 000 0 8, 160, 000 | 5702 FER
= SR 25
BIRFm 45
BENEKEE —=
PHTRRELY | B atan |- [)—2] PR
i TR |rmar  |DES L) WA 3, 040, 400 1,382,000 0 1,658,400 |2
[J—X]
iR 24
AmERRER RASHEL ey, |HEZTTVRRDR O3 16,511, 752 7,049, 000 0 8, 462, 752 [LF1S FRA
[&#4]
BEIh—T U REM
EXEM
HmmEEBELER |[#mh ROTA M| 2 = [1)—X] T4 FEE
e B iz - = T Ed SESRER 18 2,992,000 1, 360,000 ° 1032000 log e
At rn—sy—nLF 15
e S o= k> —+A8—21)—A)F 17 o
Mg 2XBELER |#H ADINTT—| i = 2l ez &7 4 LR
o T x| chdan |S1E> Poos—toES 18 37,070, 000 16, 850, 000 0 20,220,000 | S 2
16

O—8Y—hLYFr—




